STA 3024 – Exam 3 Extra problems solutions

(Note that many of these were copied and paster from draft exams so several typos on problems)
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True, True, D, B/C (same answer), C
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10.215+1.045X,   4.1967,   0.913,   (.958,1.132),   .955,   (1=0) .000
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7.0, 0.70,   E,  Defective: 400   Non-defective: 4600  (Typo)
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C, A, C
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C,  156.9 (Typo),   C,  A
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TS: Fobs=9   RR: Fobs ( 3.316,  A,   Skip (but answers are: LLSLL)
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45,  5.187 & .004,  -0.472 & .639,  .275,  407-1.685L-2.132A+175.97P
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Women: E(Y)=+1X1+2(1)+3X1(1) = (+2)+(1+3)X1
Men: E(Y)=+1X1
TS: Fobs=18    F.05,3,36 (2.88  (p<0.05)

H0: 3 = 0    HA: 3 ( 0   TS:  tobs=-0.50   P>0.05    No

Page 9

-5.0 (typo),  E,  A,  C
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A, D
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A, B (2500, not 2000 ft2 homes),  D
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D,  Don’t worry about fabric drying example (at least the setting up ANOVA table)
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TS: Fobs = 12     RR: Fobs (F.05,2,54 ( 3.17     P<0.05

